Name _______________________________________________
Pop Quiz #3, Math 2170, Spring 2006

1. Find the volume of the solid of revolution generated by revolving the region bounded by the graphs of y = 9 – x2 and y = 0 about the y-axis between x = 2 and 
x =3 (using either the disk or the washer method: ΔV=πR2Δx or ΔV=π(R2 - r2)Δx).

2. Find the volume of the solid of revolution generated by revolving the region bounded by the graphs of y = 9 – x2 and y = 0 about the y-axis between x = 2 and 
x =3 (using the shell method: ΔV=2πp(y)h(y)Δy).
